Steps to Success

Date 24.02.21

Subject/s Maths

Learning Objective

* To corwert hetween metric and imperial measures

v are metric

Success Criteria I know which measurements are imperial and which

I know
linch ~ 2.5cm
1 foot~ 30cm
1 yard ~ 90cm
1 ounce ~ 30g
Tkg ~ 2.2lbs

1 mile ~ 1.6km
8km ~ 5miles
1 pint ~ 0.6L

1 gallon ~ 4.5

conversions

Iluww'uszmy knowledge of multiples to- work out

Support Independent Adult Support ( )

Group Work

Lockdown learning: DC

Pre-task:
If one gallon is equivalent to 8 pints,

* How many gallons are equivalent to 64 pints? = 4
« How many pints are equivalent to 15 gallons? = | .87S
* How many gallons are equivalent to 2 pints? = ). 2 S

Teacher led

Fluency

oot 2~ approxumately

11=1.75 pints
Lx 1.75 = pints
pints divided, by 1.75 = litres.
175 35 525 7 875 105 1225 14 1575 17-S 19.7S
Litres Pints
2 3.5
Y 7
6 10.S
11 19. 2S5
Y 12.25




1 litre = 0.22 gallons
litres x 0.22 = gallons.
Gallons divided by 0.22 =litres.

0.22 0.44 0.66 0.88 11 1.32 154 176 198 22 242 264 286 3.08
33 352 374 396 418 4.4 462 284 506 528 55 572 594 6.16
Litres Gallons
7 . SU
5 1.1
3 Q. bb
15 2.3
(D 3.96
Weight and Mass
1 pound = 0.45 kg
pounds x 0.45 = kg.
0.45 0.9 1.35 1.8 2.25 2.7 3.15 3.6 405 45 4.95 54
Pounds KG
[N 1.8
5 2 .2G
4.05
12 5.4
| 2 5.4
Distance and length:
1inch =25 un
inch x 2.5 = cm.
25 5 7.5 10 125 15 17.5 20 22,5 25 27.5 30 32,5 35
Inch Centimetres (cm)
3 1.5
? 20
9 22.5
S 12.5
2 20




1 foot = 12 inches.
foot x 12 = inches.
12 24 36 48 60 72

84 96 108 120 132 144

156

168

Foot

| U

Capacity:

11 =175 pints

Lx 1.75 = pints

pints divided by 1.75 = litres.

1.75 3.5 525 7 8.75

10.5

12.25 14 15.75

Litres

Pints

4

3.5

15.75

1 litre = 0.22 gallons

litres x 0.22 = gallons.

Gallons divided by 0.22 =litres.
0.22 0.44 0.66 0.88 1.1 132

33 352 374 396 4.18 4.4

1.54 176 198 2.2

4,62 284 5.06 528 5.5

242 2.64 2.86 3.08
572 594 6.16

Litres Gallons
2
3.3
9
5

6.16




Weight and Mass

1 pound = 0.45 kg
pounds x 0.45 = kg.
0.45 0.9 1.35 1.8 2.25 2.7 3.15 3.6 405 45 4.95 5.4
Pounds KG
2.7
2
3
45
5.85
Distance and, length:
Tinch =2.5cm
inch x 2.5 = cm.,
2.5 5 7.5 10 12.5 15 17.5 20 225 25 27.5 30 325 35
Inch Centimetres (cm)
4
17.5
8
35
10
1 foot = 12 inches.
foot x 12 = inches.
12 24 36 48 60 72 84 96 108 120 132 144 156 168
Foot Inches
4
96
48
14
9




Prohlem Solving and Reasoning

Alice wants to conwvert 10 cm into

lain it!
L inches. She says that she needs to times
it by 2.5. Is she correct? Explain.
Use it! 3-f00tx —————— = 36 _____
= 3 gCLUDTLx _____ = _ pu«lts/
\@,E

Use it!

S,

True or false?
120 gallons is the same as 968 pints.




Answers

No Alice is incorrect. She needs to divide
by 2.5 because one inch is the same as
2.5 am.

3 foot x 12 = 36 inches
3 gallon x 8 = 24 pints
5 inches x 2.5 = 12.5

False




